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O= &l 2,200,000 2,200
202 O4dl 10,656 10,656 0
01 = LH 4 Hi 10,656 10,656 0
OH=LUH 2He 10,656,000 10,656
401 Al HIZ 201 8] 20,000 20,000 0
01 A& HI 20,000 20,000 0
OZAAHEN 252 WA 20,000,000 20,000
ROt A=A 294 9,600 9,494 106
201 et | 4,000 3,400 600
01 At 22l 4,000 3,400 600
OgBt=&H| 2,000
—HO0Its AU 24 dA4FH A2
=7 500,000& =23l 1,000
RHOots A=Y S24E ISR 22
1,000, 000& 1,000
o=l 2,000,000& 2,000
202 044l 5,600 5,600 0
01 = LH o4 1l 5,600 5,600 0
OH=LUEH 23H HRFA 3,600,000 3,600
Ol gR=2 2,000,000 2,000
FHEE A 524,440 575,382 A 50,942
= 147,840
< 71,652
e 304,948
s& FHEE WA 524,440 575,382 A 50,942
= 147,840
< 71,652
s 304,948
BI& &l 38,000 45,000 A7,000
S 11,400
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o 26,600
402 DI2HRFEO0IA 38,000 45,000 A7,000
< 11,400
= 26,600
01 SIZtt=2 AL B X 38,000 45,000 AT,000
OEHIEXZAY 38,000
—BIEHHH (ZHO0E) 500,000& x50 25,000
= 7,500
e 17,500
— B (e 1,000,000& 133 13,000
< 3,900
s 9,100
L= N 117,760 169, 382 A 51,622
201 2et24d] 13,440 14,630 A 1,190
01 At 22l 13,440 14,630 21,190
O+t 8,610
—FAHASZMEAZE JIEEE 1, 1002 *9000H 990
— OS2 A== HIMA 200,000 54 1,000
—FHEZMNEAMY ZEHED EHFY
246,250 *4 4 985
—EYHHU=EE L LT 2Y Zerd3a F
= 200, 0002 *50H4 1,000
- FYES NN, BY S 7Y
150,000 10 1,500
—FHEZNE EHUE SLEF=NEE EE
= A 55,0002 *3904 2,145
—FHEN BF0HAZLHXNIANG JIEEE
1, 1002 »9000H 990
Oo2g+¢ 2,730
—AdA=%23 28 1,190,000& 1,190
—2AdMoAE 2HEY
70,0003 «17H *13] 1,190
—SSsTH2UL EHIERRE 2+
70,0003 x5 *13] 350
O=&l 2,100,000 2,100
202 o4dl 4,320 4,752 AN432
01 = LH o4 1l 4,320 4,752 AN432
Od=sdzd2d d2F4A 4,320,000& 4,320
402 RI2HXt20l ™ 100,000 100,000 0
01 A TtE=AEER 100,000 100,000 0
OAHEX EHH X& 1,000,000& *300t + 30,000
Os&E &FE X3 (Le)
1,000,000& *70Jt 70,000
ZdO0IEMe XA (BHEL2) 295,680 288,000 7,680
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Sel sE FAEY N (29l & 2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 147,840
= 44 352
= 103,488
403 XX SRS K20| & 295,680 288,000 7,680
= 147,840
& 44 352
= 103,488
02 2II2S0CHeCH& AL I 295,680 288,000 7,680
OZHIEZANY 295,680
—Sd0E Mk 3,360,000 88= 295,680
= 147,840
= 44 352
iy 103,488
Z2=SFE 2AZXE ALY 20,000 20,000 0
402 SI2FXHE0| & 20,000 20,000 0
01 QIZEXIE2AIE 2 X 20,000 20,000 0
OBESFe FUHO A& B2
5,000,000 44 &+ X| 20,000
Sd0lE XNSHE A 53,000 53,000 0
= 15,900
= 37,100
402 SI2FXHE0| M 53,000 53,000 0
= 15,900
= 37,100
01 QIZEXIEAIE 2 X 53,000 53,000 0
OEHEZAY 53,000
— & LEXE IEHTAL
2,120,000 25 53,000
=} 15,900
= 37,100
HEMSAAH (ZTAAHASH) 32,950 32,950 0
Jleddl 32,950 32,950 0
Jl2 &34l 32,950 32,950 0
201 LBt Y| 13,750 13,750 0
01 AP 22| d| 13,750 13,750 0
Ogbt4=24| 13,750,000 13,750
202 044 15,000 15,000 0
01 2L bl 15,000 15,000 0
OBN2I (A, MOIL, 38 &4 )
5,000,000& 15,000
203 €2 F=&d| 4,200 4,200 0
04 EANSIELRF=XH| 4,200 4,200 0
OFNSIERFEH| 4,200,000& 4,200
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H: WHRES(TAAZH)
S WEAHAHX = (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEES(TAAE) 10,000 10,000 0
HEAHHK = 10,000 10,000 0
JISdES 10,000 10,000 0
702 )2 HEZS 10,000 10,000 0
I8 E3 10,000 0 10,000
O=AZ0FHIII3 853 10,000, 000& 10,000




